= A
A 2 0l & A &2 & Al A
20219 &= = 0llat LB & XA
R E-L
M =X S49 EXJIEt 25
Sl MW =XEY X4 (B9 ®R)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SX &M 794,451,320 735,543,113 58,908,207
2 487,806,493
s 10,364,000
J| 4,230,991
< 292,049,836
= S =XJIE 25 13,280,916 14,589,426 A 1,308,510
= 10,900, 320
< 2,380,596
HdE =XEE =4 12,245,095 13,481, 181 A 1,236,086
= 10,623,672
< 1,621,423
ASI SR HHMOHE =& 364,555 428,120 A 63,565
201 2et24d] 26,100 35,000 28,900
01 At 22l 26,100 35,000 A8,900
OMIBISXSAX HRIML 823 24 2,100
OMIIEZRAAS 29 5,900
OAMEISXIAIE Bt 10,000
OAMSIE X AlZ Of e 8,100
202 o4dl 13,500 15,000 A 1,500
01 = LH o4 1l 13,500 15,000 A 1,500
OARI= X AR O 13,500
203 YR =&t 40,000 45,000 A5,000
03 Al Z=A Y 2= 40,000 45,000 25,000
OAMEI=EX A =2 40,000
307 glz2tol & 221,847 256,680 A 34,833
05 RIZHRI & 3 114,527 129,080 A 14,553
OZAE Aal=RXsl2 AAE2d 79,602
OZ3LE Ma=Xs2 JIsE 34,925
11T M SXALSE EX 107,320 127,600 A 20,280
OMI=XRNAN Exns & 60,000
OL3E A= XACHE XI& 4,480
O ASI=SXDIZ SAX MM+ 42,840
308 XXM SO0 A 63,108 76,440 N 13,332
01 IXNHHBNEES 63,108 76,440 A 13,332
OAIZ ASI= X2 SAA HRML=& 19,908
OMaIERME = XI& 43,200
MEERHE XA (21) 9,370,740 8,900,071 470,669
2 9,368,772
< 1,968
301 LEHZ 9,630 7,638 1,992
= 7,662
< 1,968




2N
X ZH -
L= B

el

SXE3
=X SA2 =EXIE 7=
A& 2X8d X

(AL LS|

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

0B MBI ERRIBHS 9,630 7,638 1,992
OMSI=E2RFA SAH| 1,968
OMIEERE B 7,662
= 7,662

308 X EHHSOIA 9,361,110 8,892,433 468,677
= 9,361,110

01 HIXNHHBMNEELS 9,361,110 8,892,433 468,677
OMII=2HE XA 9,361,110
= 9,361,110

ASIBEER XAAG(=2) 600,000 0 600,000
= 300,000
< 300,000

308 XXM SOl A 600,000 0 600,000
= 300,000
< 300,000

01 IXNHHMBMNBEES 600,000 0 600,000
OAMeE2Ed S8 & 600,000
= 300,000
< 300,000

ZAZ ASIMHIAR 2H(21) 1,909,800 0 1,909,800
= 954,900
< 954,900

306 43 1,909,800 0 1,909,800
= 954,900
< 954,900

01 &= 1,909,800 0 1,909,800
OZRAT At MHIAR 23 1,909,800
= 954,900
< 954,900

SNAE &5 2EX& 1,035,821 1,108,245 AT2,424
= 276,648
< 759,173

AMZIEXAE 28 =& 640,611 715,913 AT75,302

307 gl2tol & 181,440 222,640 A41,200

11T M SXALSE EX 181,440 222,640 A41,200
O AZ=SXAE SAM =XE 181,440

308 XXM SOl A 459,171 463,273 N4,102

01 IXNHHBNEES 459,171 463,273 24,102
OAZ ASISXAE SAX =X=& 414,936
OMA2FMDAE XA 16,680
OMSI=XIAE SALA o2& otdl K& 27,555

ANSISEXAIE SAX iAo XJ(=22)(2Y) 395,210 392,332 2,878
= 276,648




2 S2XNEMY
M £ X FSA EXIIE 2=
SR STNAL H5D SYN (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 118,562
308 AXISHMSOIH 395,210 0 395,210
= 276,648
T 118,562
11 SISO USE AN EAIS Y 395,210 0 395,210
OAZEXAE SAHAF A& K& 395,210
= 276,648
T 118,562
SBEHdLEM 245 5,025,673 5,885,600 N 859,927
BEHAAYE XS 5,025,673 5,885,600 N\ 859,927
BEOH I L BEANY =T 5,025,673 5,807,600 AT781,927
201 et A | 10,080 13,200 AN 3,120
01 AFR22t2l Yl 10,080 13,200 N3,120
OLJALE=UA =4 EE 6,300
OYAHII HALY 3,780
307 212t01 & 755,093 678,400 76,693
03 AN EE2EHEX 244,000 220,000 24,000
OBZHH 294l K& 244,000
10 M SXAEEES2IHIEX 55,200 55,000 200
o 2Z3& 29 X& 55,200
11 AMISAAEE X 455,893 403,400 52,493
OM0lzZZ M L 24 XA 95,393
OBZIE A=At X & 57,000
OMAS RIS A MEAA 36,000
OREtHM sdgs N 223,000
Ok BEHMEs 243 XN 4,500
O=It7a A Edl2dd X2 40,000
308 XtXI &+ &I S0 & 3,823,500 4,116,000 £292,500
01 AIXHMBAEXZ 3,823,500 4,116,000 AN 292,500
©6-25 JE&#HA X & 18,000
OSER3AN - "5 2zH XA 21,000
Osgwma3A X oHUHE &AX XA 4,500
OL3AT FEAHW=Y XA 3,780,000
402 212t X201 A 337,000 300,000 37,000
01 QIZtXIEANEE X (KM TH) 337,000 300,000 37,000
Ok B=3& JsE2d XN& 212,000
OgLM=EdE=2H 0l &2 125,000
403 ItXIHAM S K201 100,000 0 100,000
01 AIXISHMA2E X 100,000 0 100,000
oOMe=zolg 2 JsEd 100,000




SN =2XEYY
My RO EMBEE
g2l NASES N F0sSX &8 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S0 =MESE 211,734,141 207,260,057 4,474,084
= 191,597,759
< 20,136,382
HASES NN =X 48 211,734,141 207,260,057 4,474,084
= 191,597,759
< 20,136,382
HAasEE SEXNE 211,200 248,000 236,800
201 Let24E] 4,000 5,000 21,000
01 At 22l 4,000 5,000 A 1,000
QIll=dEBHAY =& 4,000
202 O4dl 7,200 8,000 A 800
01 = LH 4 1 7,200 8,000 A 800
QJll=dMaSFAY =X 7,200
308 XXM SOIA 200,000 235,000 A 35,000
01 AXHHIYEES 200,000 235,000 235,000
Oxtare 2aSX& 200,000
225X XN (=21) 5,755,050 5,449,500 305,550
= 5,481,000
< 274,050
308 MXIEHSOIH 5,755,050 5,449,500 305,550
= 5,481,000
< 274,050
01 HXNHHNBHELS 5,755,050 5,449,500 305,550
o2d=a=X K& 5,755,050
= 5,481,000
< 274,050
L=0 S SAXN (=2 AE 22 XE)(=1) 2,846,709 2,722,217 124,492
= 1,992,696
< 854,013
308 XXM SO0l A 2,846,709 2,722,217 124,492
= 1,992,696
< 854,013
01 IXNHHBNEES 2,846,709 2,722,217 124,492
OL=2AE 29 XA 2,846,709
= 1,992,696
= 854,013
L=0 S SN (x5 ANE Js2Z)(=1) 4,648,594 3,000,000 1,648,594
= 3,099,063
< 1,549,531
403 XSS X201 & 4,648,594 3,000,000 1,648,594
= 3,099,063
< 1,549,531
01 X SHHA2E = 4,648,594 3,000,000 1,648,594




2N

Hu: o EMBEE
g2l NASES N F0sSX &8 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OL=s0AE JIs22 N 4,648,594
= 3,099,063
< 1,549,531
=0 EXNAE SAAL s 2,700 3,000 A 300
307 21201 A 2,700 3,000 A 300
11T MISRASEX 2,700 3,000 A 300
OL=0 EEXNANE SML U= 2,700
MASH KNI (=2) 196,487,200 194,112,700 2,374,500
= 179,599,000
< 16,888,200
308 XX EHHSOIA 196,487,200 194,112,700 2,374,500
= 179,599,000
< 16,888,200
01 HXNHHBHELS 196,487,200 194,112,700 2,374,500
OMASN 196,487,200
= 179,599,000
=) 16,888,200
w=Es0 A& 247,388 223,186 24,202
308 AHAIEHHSOIA 247,388 223,186 24,202
08 WSII20HetE = 247,388 223,186 24,202
(©FNE=F=40; 247,388
MRS X (=2) 1,535,300 1,501,454 33,846
= 1,426,000
< 109,300
308 XXM SO A 1,535,300 1,501,454 33,846
= 1,426,000
< 109,300
01 IXNHHBNEES 1,535,300 1,501,454 33,846
Ot HH SN 1,535,300
= 1,426,000
< 109,300
ANA=SXAY 75 & &8 48,599,462 50,267,881 A 1,668,419
= 34,871,685
s 10,364,000
< 3,363,777
NE=XMEA ANH 2 S 976,426 1,797,430 A 821,004
Ne=XAE J1gt =4 851,626 1,675,450 A 823,824
201 et 15,190 21,700 26,510
01 At 221l 15,190 21,700 26,510
OMEBISEEAY =& 3,290
OSIY=RXEHAY = 11,900
202 oddl 8,000 9,000 21,000




SN =SXHHD

Bu: o=IAY 25 L A
Sl KSR AHA 9N U B (sl &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

01 2L Y] 8,000 9,000 A 1,000
OSIUEX K JAAY =& 8,000

307 212t0| & 388,436 399, 250 N 10,814

10 AIRISEXAIEEHE2IHIEX 334,936 322,250 12,686
OLATAMIEXNE2AG 29 182,995
o¥HITCUWy 2H 151,941

11 A SAAEE X 53,500 77,000 N 23,500
OLd AMNI=XRN=ss2=23 29 40,000
OLJAAMNI=ESXNUZ X3 13,500

308 X SHAMSOIA 340,000 1,211,000 A 871,000

01 HXHHNBIMNEXS 340,000 1,211,000 A 871,000
OAZ AMSEXE2G 29 189,000
OFC0 29 25,000
OXNYGAMIEEEAN 43 126,000

403 XX S M S K201 A 100,000 34,500 65,500

01 AIXISHM A28 X 100,000 34,500 65,500
O MI=XN2 JsES 100,000

MEZBSSIAFY =& 124,800 121,980 2,820

307 QI2t0| ™ 124,800 121,980 2,820

10 Al SXNAIEEE2IHIEX 124,800 121,980 2,820
OLJATAMNIBEHILHNEH 29 124,800

SIAMHA BEHHA 2435 2,749,790 2,263,390 486,400
= 2,749,790

AR ESAd 22 XN (=21) 135,000 135,000 0
= 135,000

308 AXISHXMSOoIH 135,000 135,000 0
= 135,000

01 XHNBMNEXTZ 135,000 135,000 0
OAlZF SEAtdl 2el X& 135,000
= 135,000

SHES U=d SgAHlA IR (=2D) 1,099,560 1,105,440 AN5,880
= 1,099,560

308 XX SHAMSO0IA 1,099,560 1,105,440 AN5,880
= 1,099,560

01 HAXHHNBIMNEXS 1,099,560 1,105,440 N5,880
OsHs A8 SEMEIA XA 1,099,560
= 1,099,560

SStAtA 22l A Q1A X< (=1) 952,830 862,950 89,880
= 952,830

308 XX SHHSOIA 952,830 862,950 89,880
= 952,830




SN =2XEYY
HE: NARAAY
Sl =XAMUIA HSHH 2o

-
0
>

o

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

01 HIXNHHNBHNEES 952,830 862,950 89,880
OSEAtail 22l At 14l XI& 952,830
= 952,830

SBASANEEMA 23 AIBEAIE (22 500,000 0 500,000
= 500,000

308 XXM SOIA 500,000 0 500,000
= 500,000

01 IXNHHMBANEES 500,000 0 500,000
OLA=SXNEHENMAH 23 AIEAS 500,000
= 500,000

NEAEHEAM 2L 8435 N (Z2) 10,000 10,000 0
= 10,000

307 21201 A 10,000 10,000 0
= 10,000

11T AL S XAEE = 10,000 10,000 0
OXYGASEZEAN 43 XA 10,000
= 10,000

FOMESHES Z3MUA A Z3H(=1) 50,000 150,000 A 100,000
= 50,000

308 XX EHSOIA 50,000 150,000 A 100,000
= 50,000

01 HIXNHHNBNEES 50,000 150,000 A 100,000
OFQMEHZT ZSMHIA AH 235 50,000
= 50,000

SEAHEBI0OIN 29 (=1) 2,400 0 2,400
= 2,400

308 XXM SOIA 2,400 0 2,400
= 2,400

01 IXNSHHBANEES 2,400 0 2,400
O &¥#+HUIOIN 29 2,400
= 2,400

AMEIMHIA BERH ALY =& 11,290,670 11,434,145 A 143,475
= 88,068
s 10,364,000
< 838,602

ANEXEs MIMEIA EXASE(EX)(22)(HE 396,000 366,000 30,000
s 277,200
< 118,800

202 4l 6,000 6,000 0
s 4,200
< 1,800

01 = LH YI 6,000 6,000 0
OXNGAS MHIAETIAMYE =& 6,000
s 4,200




SH SNEHY
E: NA=RAANY 7S

(u]

I Al

= Ea:i
S AL AHIA HIRKA AFE =& (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 1,800
308 XHXIEH SOl A 390,000 0 390,000
= 273,000
== 117,000
112/ 2SUHUSHE A XEAE AT Y| 390,000 0 390,000
OLUAEXGASNEAXNRKE 24 390,000
Fag 273,000
= 117,000
KNAXEE AISIAHA ERAMY(BXR)(Z21D) 10,768,850 10,943,345 AN 174,495
= 10,086,800
= 682,050
308 XHXIGHHM SO0l & 10,768,850 10,943,345 AN 174,495
g 10,086,800
& 682,050
01 IXHHIMNEXZ 10,768,850 10,943,345 AN 174,495
OXNGANSABIAEXAE XS 9,260,650
Fag 8,578,600
& 682,050
OJIAZIY &2 K& 1,455,000
Fas 1,455,000
OKXNEANSAHAEXNAIYE &2 X 53,200
= 53,200
NATSY ASIMHIA SXAY 2 2Xtel 2 (= 125,820 124,800 1,020
2)
= 88,068
& 37,752
307 giztol A 125,820 124,800 1,020
= 88,068
& 37,752
02 QIZ2IA AAIE E X 125,820 124,800 1,020
OKXNYDAS AHI A EEAIYGE 24 125,820
= 88,068
= 37,752
ez g - g X 33,582,576 34,772,916 A 1,190,340
= 32,033,827
= 1,548,749
HE Y NA=EN 5A =D 22,500 90,000 A 67,500
307 QI2t0| ™ 22,500 25,000 A 2,500
N NEEES 22,500 25,000 £2,500
OXNEX&EdH nesd 22,500
a2z, NENEHEH 2 ZATEHEH2E(Z2D) 29,026,113 30,231,194 N 1,205,081
= 27,660,090
= 1,366,023
308 XX SHHSOIH 29,026,113 30,231,194 N 1,205,081
= 27,660,090




SH SNEHY
HE: NA=IAMY 25 L AH
|

o9 gYa NE - N A GEERED
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
=) 1,366,023
01 AXHHBAEES 29,026,113 30,231,194 A 1,205,081
oxgzz X 25,160,495
= 23,809,464
< 1,351,031
oxgdezs NA 316,992
= 302,000
=) 14,992
OXNSXeEdyH 29 3,548,626
= 3,548,626
NI, NATVESHEH L ZANSUEHSY(2D)( 534,086 530,400 3,686
IIE)
= 373,860
=) 160,226
308 XX EHSOIA 534,086 0 534,086
= 373,860
< 160,226
113 2SHUHSZAEEALS I 534,086 0 534,086
oz xedy 29 534,086
= 373,860
< 160,226
K& Aref 2el(=21) 60,877 60,322 555
= 60,877
308 XXM SOIA 60,877 60,322 555
= 60,877
01 AXHHILEES 60,877 60,322 555
O XHEH AL 22l 60,877
= 60,877
c2sgUers A=A (F2) 3,939,000 3,861,000 78,000
= 3,939,000
308 MtXIEHSOIH 3,939,000 3,861,000 78,000
= 3,939,000
01 HXNHHBHELS 3,939,000 3,861,000 78,000
osINSEE 1 XN& 614,000
= 614,000
OslYISSE 2 XN 1,793,000
= 1,793,000
ougllssa XA 262,000
= 262,000
oxdsLIIz=d NE 329,000
= 329,000
OFINMZFAHZ X 941,000
= 941,000
25 0t N& 298,904,879 283,530,400 15,374,479
= 173,332,904
& 125,571,975




2N
X ZH -
L= B

el

SXE3
25 0ts XA
S AMEIA Z3

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ESMHA Z35t 298,904,879 283,530,400 15,374,479
= 173,332,904
< 125,571,975
ESMY S& 10,800 12,000 A 1,200
201 Let24dH] 5,400 6,000 A 600
01 At 22/l 5,400 6,000 A 600
OEsEMAYE 29 5,400
202 o4dl 5,400 6,000 A 600
01 = LH o4 1l 5,400 6,000 A 600
ESMY =& 5,400
25z 2RRE3 A& 1,210,728 1,692,891 A 482,163
308 XXM SOIA 1,210,728 1,692,891 A 482,163
01 XML EES 1,210,728 1,692,891 A 482,163
oEsSz RFERE= & A& 1,210,728
SOIBEXNALH 29(=12) 552,208 494,764 57,444
= 276,104
< 276,104
307 21201 A 552,208 494,764 57,444
= 276,104
< 276,104
10 ALl SXNAIEEE2EHEX 552,208 494,764 57,444
T S0ESEXN3dH 28 XA 552,208
= 276,104
< 276,104
ANz SOIXNJMEH JtdSs XN (=1) 45,000 36,000 9,000
= 37,500
< 7,500
308 X EHH SOl 45,000 36,000 9,000
= 37,500
< 7,500
01 HIXNHHBNEES 45,000 36,000 9,000
OANZ SOIBEANIAEH J13LE XA 45,000
= 37,500
< 7,500
SIS NHH 29 XA 84,000 84,000 0
308 XXIEHHSOIA 84,000 84,000 0
01 AXHHIYEES 84,000 84,000 0
OAZ SO0SEN3dH 29 X& 84,000
Heglold we BE2us(=21) 96,000 97,350 A 1,350
= 48,000
< 48,000
307 21201 A 96,000 97,350 A 1,350




AN SXEHD
g 21 0ts K&

el B AMHA 25 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 48,000
< 48,000
11T M SXASEX 96,000 97,350 A 1,350
O0gold & BExus 96,000
= 48,000
< 48,000
Olgoly gstEdla X 40,593 60,786 220,193
308 XtXIEHHSOIA 40,593 60,786 220,193
01 AXHHILEES 40,593 60,786 A 20,193
OMASE Ols gstEH=S X& 40,593
ooy 32 XA 244,680 337,720 293,040
308 MtXIEHMSOIH 244,680 337,720 293,040
01 AXSGHBLELS 244,680 337,720 A 93,040
ongold & &4 N 244,680
OHelold sZHd X (=21) 422,100 1,044,750 A 622,650
= 281,400
< 140,700
403 UtXSHHSA=0l& 422,100 1,044,750 A 622,650
= 281,400
< 140,700
01 XM A2E X 422,100 1,044,750 A 622,650
oogold S#FHH 422,100
= 281,400
< 140,700
ogold &#&5(=21) 1,140,000 2,173,698 A 1,033,698
= 760,000
< 380,000
403 MtXISHE X201 & 1,140,000 2,173,698 A 1,033,698
= 760,000
< 380,000
01 X SHHAN2Ex 1,140,000 2,173,698 A 1,033,698
O=232g oeold &= 1,140,000
= 760,000
S 380,000
HEoly SHE(MESC s&H)(=1) 718,666 0 718,666
= 539,000
< 179,666
403 UHXSHHSA=0l& 718,666 0 718,666
= 539,000
< 179,666
01 XM A2E X 718,666 0 718,666
OOEold &= (MEs0C =& 3t) 718,666
= 539,000
< 179,666




2N
D E= ot XE

el

X ZH
S =

EPARSE )

S AMEIA Z3

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
2= AHA BE sa X 330,385 507,750 N 177,365
308 XAHXIEHSOIA 15,000 0 15,000
01 AIXSHMENEX= 15,000 0 15,000
OBEENAR 2284 X 15,000
403 XX SHHS K20 & 315,385 507,750 A 192,365
01 XIS A=Z2E X 315,385 507,750 A 192,365
ONeold IS X 315,385
Helold A M2 K& 1,086,440 1,552,056 AN465,616
308 AMXISHMSOIA 1,086,440 1,552,056 AN465,616
01 X HHIMNEEXTZ 1,086,440 1,552,056 AN465,616
ONeold &I HdMs X3 1,086,440
HEl0l& SAHX 834 M2 86,500 88,000 A 1,500
307 212t0| & 73,000 73,000 0
11 A EXAIEEX 73,000 73,000 0
ONel ol E=E4 M A4Y ¢ s Xl 73,000
308 XHXIEH SOl A 13,500 15,000 A 1,500
01 AIKISHHEMNEXZ 13,500 15,000 A 1,500
OX20el0ld stotsthal 13,500
gdotEsz N (=221) 109,919,395 111,541,313 AN 1,621,918
= 88,035,000
&< 21,884,395
308 MXISHHMSOIA 109,919,395 111,541,313 N 1,621,918
= 88,035,000
= 21,884,395
01 AXHHIMNEXS 109,919,395 111,541,313 AN 1,621,918
0Og9RitEE=E X 109,919,395
= 88,035,000
= 21,884,395
AMZHHESAHHIA MZ2XRH(21D) 991,860 575,600 416,260
= 748,000
= 243,860
307 212t0| & 55,600 40,000 15,600
= 27,800
o= 27,800
10 M SXANEEHESIGHEX 55,600 40,000 15,600
OAZIHM ESAHA H2XS(2201&) 55,600
= 27,800
& 27,800
308 XAHXIGHH SO0l & 923,260 535,600 387,660
= 710,200
= 213,060




2N
X ZH -
L= B

el

SXE3
25 0ts XA
S AMEIA Z3

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 HIXNHHNBHNEES 923,260 535,600 387,660
OAZIH ESAMHIA MK 923,260
= 710,200
< 213,060
403 XIS E X201 & 13,000 0 13,000
= 10,000
< 3,000
01 X SHHAN2E= 13,000 0 13,000
OANZIHES M3J12 el2dd X 13,000
= 10,000
= 3,000
sl 282 K& 62,925,075 56,539, 560 6,385,515
308 MtXIEHMSOIH 62,925,075 56,539, 560 6,385,515
01 HXNHHNBHELS 62,925,075 56,539, 560 6,385,515
Oxctd B2 K& 62,925,075
gL N (Z2) 25,401,961 24,788,026 613,935
= 20,314,000
= 5,087,961
308 XXIEHHSOIA 25,401,961 24,788,026 613,935
= 20,314,000
< 5,087,961
01 HIXNHHBNEES 25,401,961 24,788,026 613,935
ONdgLE==Y XA 25,401,961
= 20,314,000
< 5,087,961
SSE0lR0Iy XA (=2) 4,235,770 3,902,840 332,930
= 2,857,000
= 1,378,770
308 XtXIELH SOl A 4,235,770 3,902,840 332,930
= 2,857,000
< 1,378,770
01 AXHHILEES 4,235,770 3,902,840 332,930
O=z280god XN& 4,235,770
= 2,857,000
< 1,378,770
HEOOH s E|=2 2,600 1,300 1,300
308 MHXIEHMSOIH 2,600 1,300 1,300
01 HXNHHBHELS 2,600 1,300 1,300
OgEotE guts: B2 2,600
22 ZUHEH 2EXA(21) 44,200 44,330 A 130
= 34,000
= 10,200
308 XXM SO A 44,200 44,330 A 130
= 34,000




2N
X ZH -
L=}
el

EPARSE )

2% 0ts XA

R

ESMHIA 23

(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 10,200

01 AIKISHHENEXZ 44,200 44,330 A 130
OFRZ2 PLHEHY 24 X& 44,200
= 34,000
o= 10,200

BSNASA olAHH XN (=21D) 54,978,038 49,696, 421 5,281,617
=2 37,018,100
= 17,959,938

308 MXISHMSOIA 54,978,038 49,696, 421 5,281,617
=2 37,018,100
& 17,959,938

01 IXHHINMNEEXTZ 54,978,038 49,696, 421 5,281,617
OBsnN&A oAl XA 54,978,038
= 37,018,100
& 17,959,938

ESNA2A MM N (21D) 31,717,129 25,572,389 6,144,740
= 21,394,800
= 10,322,329

307 2Iz2t0| A 86,776 373,096 A 286,320
2 43,388
= 43,388

11T A EXAIEEX 86,776 373,096 A 286,320
OOl HH WA X 86,776
2 43,388
=} 43,388

308 ANXISHMSOIA 31,630,353 25,199,293 6,431,060
2 21,351,412
& 10,278,941

01 AXHHIMNEXS 31,630,353 25,199,293 6,431,060
OBEEWNAI MM X3 31,630,353
= 21,351,412
= 10,278,941

Helold XK (=1) 1,473,551 1,443,656 29,895
= 990,000
o= 483,551

308 XX SHHSOIH 1,473,551 1,443,656 29,895
= 990,000
o= 483,551

1 X SHHBAEXS 1,473,551 1,443,656 29,895
oOne ol K& 1,473,551
= 990,000
& 483,551

Helo|ld Bxod 2dxel N 1,147,200 1,243,200 A 96,000

308 XX EHSOlIA 1,147,200 1,243,200 A 96,000

01 AIKSHHEMNEX= 1,147,200 1,243,200 A 96,000




2N

X ZH
S =

el

SXE3
P EE Ols KE
S AMEIA Z3

o

1,328,460

% = d
SA " . B (3 gﬁ‘&i HRZ2
| | | FPRENEEEEX] 1,147,200
ZMFGH SBAXA 474,476 125,774,996 39,699,480
= ,103,825
| ,230,991
[ , 139,660
OFE =X AHIA X 77,474 123,765,225 39,412,249
= ,706,748
| ,230,991
[ ,239,735
B50IE HASX 14,200 47,200 A33,000
201 Yer2 Y| 4,200 6,000 A1,800
01 At 22l 4,200 6,000 A1,800
O0tE =X 28 4,200
308 Xt SIS0l & 10,000 10,000 0
01 UXISH P A 10,000 10,000 0
oO0tEs S H 10,000
OIEEXIR 29 465,000 470,550 A5,550
307 @20l & 410,000 410,000 0
10 ABIZ2X AL S S 410,000 410,000 0
OOIS XHE X2 Al A 410,000
308 XXl S S0l & 55,000 55,000 0
01 XIS B AE X 55,000 55,000 0
OOEE o2H 55,000
orEZ Al X 721,395 733,365 A11,970
202 04 H 5,100 6,000 A900
01 2ot 5,100 6,000 A900
OO0tS 2 A ALY 5,100
308 XX A S 0| & 716,295 727,365 A 11,070
0O IXISHBABE2 716,295 727,365 A 11,070
ogst= ols2 716,295
ES0lES MEoA X 398,962 404,454 A5,492
308 Xt EHHI S0l & 398,962 404,454 A5,492
01 XIS H Has 398,962 404,454 A5,492
B50lE MEOH 398,962
XNEOtEME 29| 7,970,760 7,331,142 639,618
= 6,642,300
[ 1,328,460
308 XHXI SIS0l & 7,970,760 7,331,142 639,618
6,642,300




SH =SNEMY
M BMASE HAXH
e OISEXAHA X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 AIKSHMEAMNEX= 7,970,760 7,331,142 639,618
OXNEOSHEH 29Hl K& 7,970,760
= 6,642,300
o= 1,328,460
KNEOtSHE E422g XK (21D) 293,393 197,317 96,076
2 244,494
& 48,899
308 MXISHHMSOIA 293,393 197,317 96,076
2 244,494
& 48,899
01 AXHHIMNEXS 293,393 197,317 96,076
OXE0tsHEH E+S8E K& 293,393
2 244,494
& 48,899
Ols=2X WA XIK(=Z1) 1,950,379 1,817,818 132,561
= 1,625,179
o= 325,200
308 XX SHAHSOIH 1,950,379 1,817,818 132,561
= 1,625,179
o= 325,200
01 AIXSHMENEXZ 1,950,379 1,817,818 132,561
OXYol=s4HEH OtsS=X DA X 1,950,379
= 1,625,179
= 325,200
XNA0tSHEH XA 29 (=21) 175,000 175,000 0
= 52,424
= 122,576
307 2iz2to| A 175,000 175,000 0
= 52,424
= 122,576
10 MM SAANEEHESIGHEX 175,000 175,000 0
OXY90lsSHdH XN 29 175,000
= 52,424
& 122,576
XG0S HEH StHHM X (=21D) 210,000 339,456 A 129,456
= 175,000
= 35,000
403 XX SRS K20 & 210,000 339,456 A 129,456
= 175,000
= 35,000
01 AXESHHEE X 210,000 339, 456 N 129,456
OXE0tsHEH SHME XN 210,000
= 175,000
& 35,000
XNE0otsHdEH 29X 857,980 740,430 117,550




2 W

h
=

x e
]
N

=

J

o=
Ji 0
= o

M

0
= b
{0 0x

==
I>

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
308 XXM SO0 A 769,180 705,430 63,750
01 AXNSGHBLAEES 769,180 705,430 63,750
OXYotsdH SAadge"d XA 72,450
oolddl 258 XA 200,770
OXdotsdH 29 252 & 491,760
FOF AbgH X & 4,200
403 XIS S X201 & 88,800 35,000 53,800
01 XXM A2 £ 88,800 35,000 53,800
OXgotsdH Jls28 XA 88,800
NEotsdEH S0 U2 WA XI& 10,000 20,266 A 10,266
308 XXM S0 A 10,000 20,266 A 10,266
01 AXNSGHBLEES 10,000 20,266 A 10,266
OZ0 AN WA XI& 10,000
OtsEs dgod Xa(=21) 527,586 0 527,586
= 490,773
< 36,813
308 AXIEtH S0l A 527,586 0 527,586
= 490,773
< 36,813
01 IXNSHHBANEES 527,586 0 527,586
O0lsEs dEgRA 22 N& 527,586
= 490,773
< 36,813
2dots d=s+g N (212) 727,997 664,229 63,768
| 670,524
= 57,473
308 XtXIEHHSOIA 727,997 664,229 63,768
| 670,524
< 57,473
01 AXSHBELS 727,997 664,229 63,768
ogedots == XA 727,997
| 670,524
= 57,473
%=247|2t 2R (2 D) 532 3,724 A3,192
Il 490
< 42
308 XXM S0 A 532 3,724 A3,192
| 490
< 42
01 AXSHHBLEES 532 3,724 A3,192
oYL=l LKA 532
| 490
< 42




2N
X ZH -
L= B

el

2 W

h
=

x e
]
N

=

J

o=
Ji 0
= o

M

0
= b
{0 0x

==
I>

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
gdaHlg XA (=21) 30,248 30,803 A 555
J| 27,860
< 2,388
308 AHAIEHHSOIA 30,248 30,803 A 555
J| 27,860
< 2,388
01 HIXNHHNBHELS 30,248 30,803 A 555
ogadlE XA 30,248
J| 27,860
< 2,388
ZOols dLLY=EExT3(=1) 77,246 89,659 AN 12,413
J| 71,148
< 6,098
308 XXM SO A 77,246 89,659 AN 12,413
J| 71,148
< 6,098
01 AXHHILEES 77,246 89,659 A 12,413
OZlots LLFEx= N 77,246
J| 71,148
< 6,098
d0ots ItE A& 30,100 43,000 212,900
307 21201 A 7,000 10,000 A 3,000
11T M3 SRASEEX 7,000 10,000 A 3,000
ooy J1gal 7,000
308 X EHSOIA 23,100 33,000 A9,900
01 HXNHHNBMNEES 23,100 33,000 A 9,900
oOYA=sdZ XN 23,100
QESOE 088 25 29X (=21) 880,930 852,150 28,780
J| 677,639
< 203,291
308 XXM SOIA 880,930 852,150 28,780
J| 677,639
< 203,291
01 AXHHBILEES 880,930 852,150 28,780
oREslts 188 E= 29 XN&E 880,930
J| 677,639
< 203,291
I RAEOlES Moll2gEE NJA(21D) 64,733 71,500 AB,767
= 45,313
< 19,420
307 21201 A 64,733 71,500 AB,767
= 45,313
= 19,420
06 2= 64,733 71,500 AB,767




SN =2XEYY
N BMNNE BHAXH
& otsEXAMEA XJ (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o2z X& 64,733
= 45,313
< 19,420
A IIFRAEOIS delxg NIAAMY (=) 25,080 20,064 5,016
= 23,100
= 1,980
308 XXM SOIA 25,080 20,064 5,016
= 23,100
< 1,980
01 X HHBILEES 25,080 20,064 5,016
o - JIEfEs delXlzdl XN&E 25,080
= 23,100
< 1,980
OlS LA XN (Z2) 1,211,770 1,134,285 77,485
= 1,116,104
< 95,666
308 MtXIEHSOIH 1,211,770 1,134,285 77,485
= 1,116,104
< 95,666
01 HXNHHBHELS 1,211,770 1,134,285 77,485
OOtsZLEXEHZ X 1,211,770
= 1,116,104
< 95,666
Ol SXAIE JIsE2d X (=1) 270,472 122,076 148,396
J| 175,521
= 94,951
402 RI2EX20| A 120,842 0 120,842
Il 60,421
S 60,421
02 U TEALEZ(0IETHR) 120,842 0 120,842
OO0sEXAE JIsEL 120,842
J| 60,421
< 60,421
403 XIS E X201 & 149,630 122,076 27,554
J| 115,100
< 34,530
01 AXISHHA2E = 149,630 122,076 27,554
O0ts=EXAE JIs2Z 149,630
J| 115,100
< 34,530
OtsZANESAE 29 760,000 605,170 154,830
307 glz2tol & 760,000 605,170 154,830
10 AL SXNAIEEE2EHEX 760,000 605,170 154,830
OOtsSLANESAE 22 760,000
OISESEIIA 2I(=21) 3,221,644 2,541,760 679,884




SH =SNEMY
M BMASE HAXH
e OISEXAHA X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
Pl 1,610,822
== 1,610,822
307 2iz2to| A 3,221,644 2,541,760 679,884
J| 1,610,822
= 1,610,822
10 MM SAANEEHESIGHEX 3,221,644 2,541,760 679,884
O0lsEsdE2IN& 84 3,221,644
J| 1,610,822
o= 1,610,822
OlSEsdMED| 2 AR &X(=21D) 1,200,000 0 1,200,000
J| 600,000
=} 600,000
402 SI2FXHE0| & 400,000 0 400,000
J| 200,000
& 200,000
02 QX2 A EX (0| X THSH) 400,000 0 400,000
OOISESHIIE AAES 400,000
J| 200,000
= 200,000
405 XHo&HF S HI 800,000 0 800,000
J| 400,000
= 400,000
01 XA 2 ZFF S| 800,000 0 800,000
OOISESHSI|2 ARSS 800,000
J| 400,000
= 400,000
StHOloiolE & 29 (=21) 516,083 467,090 48,993
J| 396,987
& 119,096
308 XAXIGHHM SO0l & 516,083 467,090 48,993
J| 396,987
& 119,096
01 HXHHBIMNEXS 516,083 467,090 48,993
OstjIlcHolsaH &4 516,083
J| 396,987
== 119,096
stioloiots&a e 0ol™ 300,000 0 300,000
405 XHA&HF S HI 300,000 0 300,000
01 JMY = EF S HI 300,000 0 300,000
OsttimlciotsaE ol 300,000
Z2H)|& 24 270,000 270,000 0
307 2Iz2t0| & 270,000 270,000 0
10 M SXAANEEHESIGHEX 270,000 270,000 0
oZ2HJ|I& &9 270,000




SA: 2X™ 2
N BMNNE BHAXH
¢ otsSSEXAMUA X (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
IIE/EXNIENH &9 670,000 636,500 33,500
307 2Iz2t0| A 670,000 636,500 33,500
10 M SXAEEHESIGHEX 670,000 636,500 33,500
OJIE/AEXNAHLE 2 670,000
CSAEE EstAtdZE(21D) 4,125,636 4,597,775 N472,139
= 3,837,801
= 287,835
308 XHXIGHH SO0l & 4,125,636 4,597,775 N472,139
= 3,837,801
& 287,835
01 AIKSHHEMNEXZ 4,125,636 4 597,775 AN4T72,139
O0ls sSetMHlA XH 4,125,636
= 3,837,801
o= 287,835
ols4+4 20 XI3(=21) 65,415,300 65,609, 135 A 193,835
= 60,075,000
=} 5,340,300
308 MXISHMSOIA 65,415,300 65,609, 135 A 193,835
= 60,075,000
= 5,340,300
01 XHHIMNEEXTZ 65,415,300 65,609, 135 A 193,835
oots+4 20 X2 65,415,300
= 60,075,000
& 5,340,300
Ots 4% XXM AFSEHl XK (=22D) 15,800 23,700 A7,900
= 14,000
& 1,800
308 XHXIEHMSOlIA 15,800 23,700 AT7,900
= 14,000
= 1,800
01 AIXSHMENMNEX= 15,800 23,700 A7,900
O0ts4+< XIAFM AFEHl K& 15,800
= 14,000
& 1,800
FoI2=g N 68,334,280 31,906, 350 36,427,930
308 XHXIGHH SO0l & 68,334,280 31,906, 350 36,427,930
01 AIKISHHENMNEXZ 68,334,280 31,906, 350 36,427,930
o=0J|I2x% 68,334,280
BSE20ls Mg XN (=21D) 1,391,040 1,378,944 12,096
= 1,324,800
= 66,240
308 MXISHMSOIA 1,391,040 1,378,944 12,096
= 1,324,800
= 66,240




SH =SNEMY
N BMNNE BHAXH
& otsEXAMEA XJ (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 1,391,040 1,378,944 12,096
oO2sEZ0s Mg XA 1,391,040
= 1,324,800
< 66,240
AN S0ls ANEX(=21) 43,928 45,180 A1,252
= 40,460
< 3,468
308 XXIEHH SOl A 43,928 45,180 A1,252
= 40,460
< 3,468
01 AXHHILEES 43,928 45,180 A1,252
OZAHEXsOts XHEXA 43,928
= 40,460
S 3,468
HEAM HSEH 2,297,002 2,009,771 287,231
= 1,397,077
< 899,925
MEdi 28 =& 7,220 8,200 A 980
201 Let24d] 4,500 5,000 A 500
01 At 22/l 4,500 5,000 A 500
ONESHMUH 2 4,500
202 Odl 2,720 3,200 A 480
01 = LH 4 bl 2,720 3,200 A 480
ONMEAUH 2F =& 2,720
CHAHEAOHE EEXI& 129,600 256,167 A 126,567
308 XXM SOIA 129,600 256,167 N 126,567
01 AXHHBIYEES 129,600 256,167 A 126,567
OUXHIIE SEX& 129,600
MEM3= HWERT 2483 XA 98,000 140,000 242,000
307 21201 A 98,000 140,000 A 42,000
02 B AAHEX 98,000 140,000 A 42,000
OZ&d ME4=32=2 UERZT 43t N2 98,000
NEstD@As hyl SUAANE XA (=1) 39,496 39,496 0
= 27,647
< 11,849
307 gl2tol & 39,496 39,496 0
= 27,647
< 11,849
11T M SXALSE EX 39,496 39,496 0
ONMEAM=IT UMMM X 39,496
= 27,647
< 11,849




2N
X ZH -
L= B

el

20 [ i

E-E'
MEIBE BT
B4 OSHH

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
CIeH sS4y 29X (=21) 858,096 520,756 337,340
= 715,080
& 143,016
308 XAHXIEHSOIA 858,096 482,466 375,630
= 715,080
= 143,016
01 AIXSHMENMNEX= 858,096 482,466 375,630
OAlZ CEtH=34dE 2AHH K& 803,556
= 669,630
=} 133,926
OAZ UeENssdH 29 A& 54,540
= 45,450
& 9,090
CIe s24dH Jlse2d X (=21D) 687,500 855, 152 A 167,652
= 590,000
= 97,500
403 XX SRS A=20 A 687,500 747,229 ANB9,729
= 590,000
o= 97,500
01 XS AS2E X 687,500 747,229 NB9,729
OANZ UEN=s=SHE JlsE2 687,500
= 590,000
= 97,500
et Ss4dH 2 X (KNAESAIY) 195,000 190,000 5,000
308 XX G SOl A 180,000 190,000 A 10,000
01 AIXISHMEMNEX= 180,000 190,000 A 10,000
OXNHEEFFANY 2 180,000
403 XX SRS K 20| & 15,000 0 15,000
01 XIS A=2E X 15,000 0 15,000
OJlsEBZAY K& 15,000
Cle 2 st-XANAH 8922 X (=21D) 90,090 0 90,090
= 64,350
o= 25,740
308 XX SHHSOIH 90,090 0 90,090
= 64,350
o= 25,740
01 AIXSHMEMNEX= 90,090 0 90,090
OUeN =2 stu-XAH ggede 1 90,090
= 64,350
&< 25,740
TSE=8 MNEAE X& 192,000 0 192,000
308 XX EHSO|A 192,000 0 192,000
01 AIXISHHEMNEX= 192,000 0 192,000




M SNEH L
=4

HE: BMEHE HAXY
S M4 HsSEH (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| | | OZSEE AEANY X 192,000
HH2IZH (SR Z D) 61,070 68,418 AT,348
JlEZ3l 61,070 68,418 AT,348
EM2g JI2Z 4l 61,070 68,418 NT,348
201 £B-2E| 39,692 43,458 N 3,766
01 At 2t 2l 39,692 43,458 N 3,766
OFRN2Y AR 22l 39,692
202 oddl 9,918 13,500 A 3,582
01 SLHOIYI 9,918 13,500 A 3,582
FNE2E ZWHHH 9,918
203 ¥ S =&l 11,460 11,460 0
01 J22F PR =8 6,600 6,600 0
o= 6,600
04 NI 4,860 4,860 0
©3121 0l &t 4,860
HRaes (=S 51,370,703 48,166, 335 3,204,368
HEAHH K= 51,370,703 48,166, 335 3,204,368
dz=20JI2 XA 51,370,703 48,166, 335 3,204,368
701 JIEtSI HEHES 51,370,703 48,166, 335 3,204,368
01 JIEtSIHEES 51,370,703 48,166, 335 3,204,368
OY=s0HII=EEH dES 51,370,703




= o
A & 0l & AF 2 E A A
20219 & 204k DIEFSESIAH M
2AH: SRS
My RO EMBEE
gl A2300I3 2E(A2S0HIIS2ESEA) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=SNF DY 355,061,000 333,128,995 21,932,005
2 282,212,497
< 72,848,503
I MEEH 354,967,001 333,042,847 21,924,154
= 282,158,476
< 72,808,525
o 220JI=2 2 (d=230II32ESEIAH) 354,967,001 333,042,847 21,924,154
= 282,158,476
< 72,808,525
o220 TEANEIA XA (21) 348,276,595 326,596,277 21,680,318
= 278,621,276
< 69,655,319
201 2et24d] 780,595 757,859 22,736
= 624,476
< 156,119
01 At 2teltl 780,595 757,859 22,736
ORIE - A2 780,595
2 624,476
< 156,119
403 UHXSHHSA=0l& 347,496,000 325,838,418 21,657,582
= 277,996,800
< 69,499,200
02 S 2SO CHE A 2 X 2 & AL H 347,496,000 325,838,418 21,657,582
OZZ=Hl HES 347,496,000
= 277,996,800
= 69,499,200
o220 AXNSMIAER(I2D)(AMZ) 2,998,142 2,777,045 221,097
= 2,535,836
< 462,306
308 XXIEHHSOIA 2,998,142 2,777,045 221,097
= 2,535,836
< 462,306
01 IXNHHBANEES 2,998,142 2,777,045 221,097
o=o 2g #3233 92,142
2 77,935
< 14,207
OL2H & HMHAEEI|I PR 1,781,734
= 1,506,992
< 274,742
o=¢e BE Bd=s 102,344
= 86,564
< 15,780
(OFalz g NI 1,021,922
= 864,345
< 157,577
dE=0ge =X (21) 205,069 197,006 8,063




2N
X ZH -
L= B
el

=X =™
ELIBESVELR

ARS0II2 2E(A2S0HIIS

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

= 104,888
< 100, 181

201 LBH2E| 9,285 10,000 AT15

01 At 22l 5,500 6,000 A 500
O2Az==0 Le2d 5,500

03 &AL Z I 3,785 4,000 A215
02z 30 AL MRS 3,785

202 O4dl 12,230 12,230 0

01 =S LHAYI 12,230 12,230 0
ogzs0gR =2 12,230

308 XXM S0l A 183,554 174,776 8,778
= 104,888
< 78,666

01 AXNHHBANEES 183,554 174,776 8,778
od&EAH X& 183,554
= 104,888
< 78,666

[ {M=1Rs]! 2,590,719 2,590,719 0

801 GilHI bl 2,590,719 2,590,719 0

1 BHoilgl bl 2,590,719 2,590,719 0
©uldl bl 2,590,719

2021 At Z 2l M ERAH HA(=2)(A2) 896,476 881,800 14,676
= 896,476

308 XXM S0 A 896,476 881,800 14,676
= 896,476

01 HXNHHNBMNELS 896,476 881,800 14,676
oAz =0 &AL 896,476
= 896,476

HH2LZH (S F D) 93,999 86,148 7,851
= 54,021
< 39,978

ol (230lI=2295E3H) 93,999 86,148 7,851
= 54,021
< 39,978

o230 LA 2E(=1) 93,999 86,148 7,851
= 54,021
< 39,978

101 12 dl 93,999 86,148 7,851
= 54,021
< 39,978

03 RIAHAZZ2THE = 93,999 86,148 7,851
ooz a2l A 21| 93,999
= 54,021




2N
X ZH -
L= B

el

=X F & D
HYSABH (SXNFHD)
dE2YY (ARSI ZLYSHEIH)

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

H

39,978
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